Conflicting operations

· a pair of operations conflicts if their combined effect depends on the order in which they were performed

· e.g. read and write (whose effects are the  result returned by read and the value set by write)
For two transactions to be serially equivalent, it is necessary and sufficient that all pairs of conflicting operations of the two transactions be executed in the same order at all of the objects they both access
· Serial equivalence is used as a criterion for designing concurrency control schemes
What decides whether a pair of operations conflict?

· concurrency control protocols are designed to deal with conflicts between operations in different transactions on the same object

· we describe the protocols in terms of read and write operations, which we assume are atomic

· read operations of different transactions do not conflict

· therefore exclusive locks reduce concurrency more than necessary

· The ‘many reader/ single writer’ scheme allows several transactions to read an object or a single transaction to write it (but not both)

· It uses read locks and write locks

· read locks are sometimes called shared locks

